
Reading Questions 17

page 95: Definition 4.24

1. The set NG(H) is the normalizer of H in G.

2. The set NG(H) is the stabilizer of H in G.

3. Let G = Z4 and let H =< 2 >. What is NG(H)?

Section 4.3 Stabilizers (Part 1)

Cayley Graphs

P 1. Let D8 act on {1, 2, 3, 4}. Let S = {a, ab}. Draw the Cayley graph.

Stabilizers

P 2. Let D8 act on {1, 2, 3, 4}. Find StabD8(3).

P 3. Let S4 act on {1, 2, 3, 4} defined by the action σ · a = σ(a). Find StabS4
(2).

P 4. Let G be a group and g ∈ G. In the action of G on G by conjugation, StabG(g) = CG(g).
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